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Choose the words which has the underlined part pronounce differently

1. A. Accent B. Factor C. Anniversary D. Variety
2. A. global B. Operate C. Erode D. Openness
3. A. stimulate B. Puree C. Confusion D. Rusty

4. A. bilingual B. Imitate C. Simplify D. Whisk

Choose the best answer to complete these following sentences.

1. They

A. would be

B. should be

C. would

D. should

2. What would you do if you

A. win

B. won

C. had won

angry if you didn’t visit them.

a million dollars?
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D. will win

3. What will happen if the air

A. was polluted

B. be polluted

C. is polluted

D. has polluted

4. He wouldn’t have had an accident if he
A. drives

B. drove

C. had driven

D. was driving

5. If you better last night,

A. sleep

B. had slept

C. was sleeping
D. slept

6. If I had noticed him, |

more carefully.

you wouldn’t have been so tired.

hello to him .
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A. say

B. said

C. would say

D. would have said

7. If he with us now, he

the beauty of the nature of the

National Park

A. is/ can enjoy

B. was/ will enjoy

C. had/would enjoyed
D. were/ could enjoy

8. Would you mind if | in the room?

A. smoke

B. smoked

C. would smoke

D. had smoked

9. You can’t get higher result

A. if you work hard

B. unless you work harder
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C. if you worker harder

D. unless you will not work harder

10. Can you imagine what if everyone

A. will happen / can fly

B. would happen / could fly

C. had happen / could have flown

D. happened / will have flown

Give the correct form of the verbs in the brackets.

1. If people really cared about the environment, they ( not dump ) waste

into the lake.

2.1 there was no fresh water in the world, what (happen)

3.0 (know) his telephone number, I’d give it to you.
4. If he worked more slowly, he (not make) so many mistakes.

Finish the second sentence so that it has the same meaning as the first

one.
1. We can't offer you the job because you can't speak English.

If you could
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2. My friend plays the guitar. He has just released a CD.

Read the paragraphs below and give the answer True/false

Japanese people are famous for their well-balanced and healthy diet. That is the main

reason for their longevity.

A. Typically, a Japanese meal consists of rice, miso soup, the main dish(es) and pickles.
Rice is the staple and plays a central part in people's eating habits. Japanese rice is sticky
and nutritious, so when combined with the main dishes and the soup, they make a

complete meal. The portions of each dish are individually served.

B.The most important characteristic of their eating habits is they like raw food and do not
use sauces with a strong favour. Two typical examples are sashimi and sushi. The
Japanese make sashimi simply by cutting fresh fish. Then they serve it with a dipping
sauce made from soy sauce and spicy Japanese horseradish (wasabi). Sushi is similar.
The cooked, vinegared rice can be combined with raw fish, prawn, avocado, cucumber or

egg. Sushi is usually served with soy sauce and pickled ginger.
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C. Itis said that the Japanese eat with their eyes. Therefore, the arrangement of dishes is
another significant feature of their eating habits. If you join a Japanese meal, you may be
excited to see how the colourful dishes are arranged according to a traditional pattern. In
addition, there are plates and bowls of different sizes and designs. They are carefully

presented to match the food they carry.

1. A Japanese meal consists of rice, vegetable soup, the main dishes and soy sauce.

2. Rice is the staple and plays a central part in people's eating habits......................
3. Japanese people like fresh food and do not use sauces with a strong flavour..............
4. The two typical examples are sashimi and sushi. ..........cccccoeuvennen.

5. The Japanese make sashimi simply by cutting fresh fish and then they serve it with fish

Choose the words which has the underlined part pronounce differently
1-D;2-B;3-D;4-A;

Choose the best answer to complete these following sentences.
1-A;2-B;3-C;4-C;5-B;

6-D;7-D;8-B;9-B;10-B,;

Give the correct form of the verbs in the brackets.
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1 - wouldn't dumped; 2 - would happen; 3 - knew; 4 - wouldn't make;

Finish the second sentence so that it has the same meaning as the first

one.

1 - If you could speak English, we could offer you the job.

2 - My friend who has just released a CD, plays the guitar.

3 - Parts of the palace where the queen lives, are open to the public.

4 - English has borrowed many words which come from other languages.
Read the paragraphs below and give the answer True/false

1- False; 2 - True; 3 - True; 4 - True; 5 - False



